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980 FWHM and 1550 FWHM

== 980 FWHM == 1550 FWHM
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Here the focal point of the 980nm beam through the objective is clear, but the 1550 nm
beam is slowly decreasing towards some point, it does not seem to reach that point.

log(980FWHM) and log(1550F WHM)

= log(980FWHM) == log(1550FWHM)
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Focus Photos:
https://drive.google.com/drive/u/1/folders/ADRmMtON_QEdgImFKbVrnMEooxzIFO1krC

*See procedures for how data was collected and results calculated

Raw Calculated Data
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https://drive.google.com/drive/u/1/folders/1DRmt0N_QEdqlmFKbVrnMEooxzIFO1krC
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https://www.notion.so/5cfa910507ac4e2cb040bb9fea527510
https://www.notion.so/0a1f465136d1431dac7b19a34d615885
https://www.notion.so/68bcf6e8dc52408fb4d7d4d4ab71c966
https://www.notion.so/4b74a4a362b44c0bb60438aac7e47e36
https://www.notion.so/873cb775344c49cdb9daabada3ce8091
https://www.notion.so/3b38cb2f8abe412da3f71ce277275dd4
https://www.notion.so/d00d5e2f691b43d085fbe10654f2f895
https://www.notion.so/4c3e12eb3cb0438fb68fa31d56a897e2
https://www.notion.so/6b0480d4f8c1472d8fc007d96d2bdb66
https://www.notion.so/8bda26721b98461cb196a3528af15946
https://www.notion.so/d8116bea89204e2f9481303795734428
https://www.notion.so/2e537c83859b446f89aa9e107041e806
https://www.notion.so/1ab5f7df0a3a4fc4b5a022cf1e2139b0
https://www.notion.so/12436d6437864ec8bac5b5db96b6ea29
https://www.notion.so/96115c777a9149cfb3ecacece886b44d
https://www.notion.so/29bb2d2fea3b40579277407d352e554c
https://www.notion.so/80d06c16061241c9a6c278af78509b34
https://www.notion.so/0d276f61bd4d4585a18fdeb57b76b514
https://www.notion.so/d824628a17bf477cbd8bd098942cb6d5
https://www.notion.so/77afca6d73c14995a89c3a3d63297bfa
https://www.notion.so/ec0bb46385cb4501bd2c4661b677492e
https://www.notion.so/c89920601ffa44ed9713fbec9a891f07
https://www.notion.so/0a956e64b893426f8b5f4d0c42eac62a
https://www.notion.so/5eb3a3e274ef47a292c1ee532217770b
https://www.notion.so/c42bce6c84f54e249da73c5bf34169fa
https://www.notion.so/a78cbe6b32a04045946d4856fcfdb30f
https://www.notion.so/cfa01d15af384546aef8bf149f1b3ef0
https://www.notion.so/36e86cf8d8c84135ac2a4ac06a2c7f1a
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Iris Alignment Confirmation Video

https://youtu.be/MHOODRcpSPE

log(1550FWHM)
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Focus Alighment Confirmation Video

https://youtu.be/NDfyGI9Fgxc

Power Performance Comparison to previous
alignment

This was just readings taken from an oscilloscope compared to plotted points from
previous alignment data using the calibration sample in both cases

Input vs Output

Input Power (UW) Output Voltage Previous (mV) Output Voltage New (mV)

50 800 saturated

10 46 2200
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https://www.notion.so/a0d3544fdce24768a95db578fd9dfc54
https://www.notion.so/a29489aa67de4841bbbea01e4b12b8c8
https://www.notion.so/3519a6d9299c4898a88ac983628bc94d
https://www.notion.so/695be7decbed4871888d5005729e39b5
https://youtu.be/MH0oDRcpSPE
https://youtu.be/NDfyGI9Fgxc
https://www.notion.so/saturated-1e31b88219e44b0cbd4727b7ef18986b
https://www.notion.so/2200-36c459eac5a743c48c787b9d7266abfc

Input Power (uwW) Output Voltage Previous (mV) Output Voltage New (mV)

5 14 750
3 51 390
2 2.32 200
1 1.15 90

Major optimization changes here include:
o new collimator/ stabilized collimator with same lens a previous alignment.
o using the collimator focus as a parameter for optimization.

o Green filter angle as parameter for optimization.

Old Vs New Alignment Power Performance

== (Cutput Voltage Previous (mV) == Output Voltage New (mV)
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Returning Beam Analysis

here we were looking at the returning beams using a flip mirror before the detector to
shoot the beams out and focused into the phosphor camera with the objective focused
at highest input power for the 980 nm beam. A 1550 short pass filter was used to
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https://www.notion.so/750-36414d12b3884d08bfd16d0bff4a0fa6
https://www.notion.so/390-c95a8e9c0e164b33893b24e4f5509c22
https://www.notion.so/200-3b16baba968d4f41bbb4bf63e266228b
https://www.notion.so/90-0b1eea2d1df745b8b02c3929f929dbc9

remove the 1550 beam from the returning path in the first case. The 1550 pictures
should technically also still include the 980 beam

980 fluorescent beam in thick part of sample (n 980 fluorescent beam in thin part of sample
aberration) (small aberration top left corner)
1550 (1550 filter removed) returning beam in 1550 (1550 filter removed) returning beam in thin
thick part of sample part of sample
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